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1101 [ X418 GH 40 400 0 400
1113|FEAS |[EE 170 1700 0 1700 10 0 0 0 2160 0 594
RiF 51 510 0 510 10 0 0 0 0 162 0
& 221 2210 0 2210
1201[83% % 36 540 0 540 15 0 0 0 0 756 0
& 36 540 0 540
1203[F ¥Ry [EH 243 2430 0 2430 10 0 0 0 1296 0 702
ZH 100 1500 0 1500 15 0 0 0 0 864 0
EE 51 510 0 510 10 0 0 0 972 0 648
[ED) 444 4940 0 4940
1205[[F>NAE [EE 134 54 54 0 0.4 0 151 0 0 0 0
ED 180 143 54 89
1207[F& GD 1029 131 106 25
1209 B & B 5 15 0 15 3 0 0 0 0 1836 0
(&) 5 15 0 15
1301[#aF S 25 50 0 50 2 0 0 0 972 0 864
#mE 4 20 0 20 5 0 0 0 1728 0 1080
12 hel 4 16 0 16 4 0 0 0 0 2160 0
(&) 59 210 0 210
1311[FRE EE 89 534 534 0 6 1944 0 540 0 0 0
EES 120 480 0 480 4 0 0 0 1188 0 324
(&) 209 1014 534 480
1321 |81 mE 46 230 0 230 5 0 0 0 2376 0 1836
BiE 100 500 0 500 5 0 0 0 2538 0 2160
(&) 148 740 0 740
1331 [MFBe  [AFS T 30 300 0 300 10 0 0 0 0 2916 0
(&) 36 360 0 360
1351 E—<> [X& 1020 153 0 153 0.15 0 0 0 97 0 92
(&) 1020 153 0 153
1353[ Tk =X 60 6 0 6 0.1 0 0 0 184 0 108
(&) 60 6 0 6
1355|445 ERE 80 8 0 8 0.1 0 0 0 0 81 0
ERE 10 30 0 30 0 0 0 1944 0 756
Eh 90 38 0 38
1361|R/ba>  |ZH0 20 100 0 100 5 0 0 0 0 1490 0
Eh 20 100 0 100
1401425 GhH 2 4 0 4
1411 &= Eh 57 23 23 0
1511 | B#HE Ri& 240 2400 0 2400 10 0 0 0 810 0 594
Eh 240 2400 0 2400
1513[A—94> [BER 5 50 0 50 10 0 0 0 0 1404 0
Eh 5 50 0 50
1521 | B ¥ (&) 19 95 0 95
1541 [ EH EE 503 5030 0 5030 10 0 0 0 1404 0 864
(&) 503 5030 0 5030
1603[)L)— [REH 5 50 0 50 10 0 0 0 3240 0 2916
(&) 5 50 0 50
1609|70val)  [EF 45 270 0 270 6 0 0 0 3780 0 2592
(&) 45 270 0 270
1611[LAR R 20 200 0 200 10 0 0 0 1620 0 972
(&) 20 200 0 200
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S 63 189 0 189 3 0 0 0 1620 0 1512
GhH 665 313 0 313
1705| £ = fa 450 36 0 36 0.08 0 0 0 0 108 0
=0 3 12 0 12 4 0 0 0 0 5616 0
& 603 60 0 60
1803 | EHEE =) 150 15 0 15 0.1 0 0 0 0 125 0
S 150 30 0 30 0.2 0 0 0 0 77 0
GhH 750 90 0 90
1807|#8E =% 100 10 0 10 0.1 0 0 0 0 49 0
f=554 1290 258 0 258 0.2 0 0 0 76 0 56
E% 450 135 0 135 0.3 0 0 0 86 0 59
Gh 1840 403 0 403
1809|L&HL R 250 25 0 25 0.1 0 0 0 0 49 0
=% 1950 390 0 390 0.2 0 0 0 84 0 78
(&) 2200 415 0 415
* S EEET * 18783 39412 1304 38108
2561 |#k A 40 7 0 7 0.18 0 0 0 0 648 0
(&) 40 7 0 7
2611 |EA—2  [El 1 5 0 5 5 0 0 0 0 17280 0
(&) 1 5 0 5
2701|7—JLR &% 1 9 0 9 9 0 0 0 0 9180 0
(&) 1 9 0 9
293573 =5 19 8 0 8 0.4 0 0 0 0 1512 0
(&) 19 8 0 8
* S FAET * 122 58 0 58




